Analysis H 2018-2019 — Deggeller / Gleason / Hahn

Unit 4: Vectors and Parametrics, Quiz 2
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1. Consider the vectors 1 = (10,12,7) and ¥ = (—2,5,11), find...
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b) The equation of a plane, in parametric form, that contains the point (4, 0, 1) and the two vectors above.
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¢) The volume of the triangular prism that has 4, ¥, and(@x ¥ as 3 of its edges. Include a diagram in your work.
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2. A certain plane contains the point (3, -1, 2), and the line <x, y, 2> =<0, 5, -2> + t<-6, 4, 1>. Write the equation of the
plane in Ax + By + Cz = D form. [4 pts]
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3. Find the distance between the planes 2x + 3y + 4z = 8 and 2x + 3y + 4z =10. [3 pts]
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4. Consider the plane P: 3x +y —z = 8, the point Q = (2, 5, 3), and the point R = (6, -1, 4). Qis on the plane, and R is not.
Line Lis normal to plane P and contains point R. Line L and plane P intersect at point S. [7 pts 2/2/3]
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c) coordinates of point T, such that Zﬁ" (cutie!!) is a unit vector, in the opposite direction of aﬁ
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5. Consider the unit vectors % and ¥:

a) Precisel‘ykdescribe in words the direction of % X . [2 pts]
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b) Fill in the blank with either <, >, =, or “not enough info” [1]
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